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OttHEs = 19,039,000& x 1% = 191
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O ot=XHeAd 2L s A 12,325
—-ot+3LXHAANE SHEZE 10,670x 9 A x 23] X 20&E = 3,842

-0tSot==XelAld & SHEZE
10,670%x 53 A x 13| x 16& = 8,483
O otx=HelAE £ 22 29X Osh| 1,210
- OtXM 3L 40,000& x 10¥ = 400
- galE Hg= 3,000x%x 123 x 108 = 360
- &3 5,000& x 10¥ = 50
_ mos= 40,0002 x 10% = 400

153,302 122,965 30,337|02 =329gH4|
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(700) Areddl MNIg : (716) HMel &l £ ¢ (201) Lt (ctel o)
2| &t = 3 5 S Z &t £ ) =
25 3ot HeANE L 2l AL
500,000& x 128 = 6,000
E=s 84 S3ot=X2lAl4 200,000& x 128 = 2,400
Ot23t= X2l Al & (2600 4 ) 200,000& x 2694 A& = 5,200
SHEZE (36 2) 100,000& x 369 & = 3,600
O =2 2Al Mo &d |Xzel 3,600
- 2SS S3o=H2AANE & L HEAE
200,000& x 12&8 = 2,400
- 85 Y4 33ot=sXAE 100,000& x 12&8 = 1,200
O ot=Hel& 29 A2 RF ¢ A2y
1,500,000& = 1,500
O O (SXA 20) 78 ¥ sy 1,000,000 = 1,000
24 SHes 700,000x 12& = 8,400
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20,000,000 x 200 &~ = 40,000
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HZ 4 93, 131 83,995 9,136
28,731 27,595 1,136 =]
S 2EYUs +¢ 16,800
S 335t HMadAE =2 TS 2EAE 2
700,000& x 128 = ,400
s 84 Z36t:HeAAME =2 TS 2 AE 7L
700,000& x 128 = 8,400
=SEXHE AEA X 350,000 12& = 4,200
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- 33ct=HelAld 1,500 x 2J &~ x 3652 = 1,095
- Ot=ot=Hel A4 1,500 X 201 x 2601 & x 12& = 936
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1,500,000 & 1,500
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O 33ot=HMelAld 228 HM=HM 2L
150,000& x 28 A = 4,200
64,400 56,400 8,000{02 <ZEH|
O ot=HXelAld 2EAE 2L 56,000
- RIISEH 5,000 x 5,000kg = 25,000
- RIS & H(PAC) 180,000 x 90= = 16,200
- HE= 1,000x 10,000 4 = 10,000
- &S2A 6,000 x 800kg = 4,800
O = XMelAd EF5E S0A 1,500,000x 2 .48 = 3,600
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220,000,000& = 220,000
214
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O L delAld HEH R 20,000,000& 20,000
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25,000,000& x 200 &= 50,000




(700) At HIS g (710) 2LHIE Mg (716) XMl &bl £ (214) =KX LA

=2
- P = _ _
2z E = T - I - I & = J| ES
O 225SHMEAE CCTV &sda & SAB2(9MA)
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215
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346,350 323,258 23,092
247,852
228,786
3,305,700 x 1Y x 128 = 39,669
2,719,500 & x 59 x 12& = 163,170
2,162,200 x 18 x 128 = 25,947
228,786,000& /128 x0.5%x 23| = 19,066
62,873
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(700) ArelHl Mg : (751) Lerzell £ 1 (101) A (ce : M
e = gl & &% |5 ¥ at & pJ =

TESY 40,0008 x 7% x 128 = 3,360

YIS 20,0009 x 239 x 128 = 5,520

- H2$gotuz 6,960

154014 ~ 204 0] gt 80,000 x 4% x 128 = 3,840

10014 ~ 15 Dlgr 60,0009 x 19 x 128 = 720

204101 & 100,000 x 2% x 128 = 2,400

- HI&g Fote3 480
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120,000& x4 x 12&

50,000& x7H x 128

100,000& x 79 x 12&

9,383& x 1& x 10AI 2t x 12

8,476 x 5& x 10Al 2t x 128
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21 (700) ALRIHIE & (710) 2UHIE M : (751) Lerzelt) 2 1 (201) YereAy cio s mel)
2 = W e | = <
- JJtHM T 1,000,000& x 13| = 1,000
- Ot S0/ Z2842TA =5 10, 000,000& = 10,000
O AMAEHIRAE > 4,000
- 2J|g€3H T2 (Lobas) S A 22 4,000,000& = 4,000
202
o4 dl 5,680 5,384 296
5,680 5,384 296|101 =LH O bl
O 2UHoHI(2) 3,880,000& = 3,880
O =UWoH(=22) 1,800,000& = 1,800
770
ggedl 93,300 125,400 A 32,100
771
X =20l A2 F = Hl bl 93,300 125,400 A 32,100
300
2 80| 93,300 125,400  A32,100
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P = &8 T gaey |5 2 &t 5 p =
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93,300 125,400 A32,100|102 Al - 2 -

3,110,000,000& x 3% = 93,300




